
Q1) a) Explain the following points in relation to HAZ. [9]

i) Definition ii) Causes

iii) Effects iv) Reduction of HAZ formation

b) What is Weld ability? Elaborate the various factors affecting weld ability.
[8]

OR

Q2) a) What are the various criteria’s for the characterization of the weld. Explain
them in detail. [9]

b) What are the factors affecting weld thermal cycles. [8]

Q3) a) Explain with neat sketch construction & working of Ultrasonic Welding.
[9]

b) Discuss various steps to be followed during adhesive bonding. [9]

OR

Q4) a) Explain with the sketch basic principle of friction stir welding. [9]

b) Explain with the sketch how explosive welding is carried out. [9]
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Q5) a) Explain the process of underwater welding. [8]

b) Explain working of Laser beam welding with neat sketch. [9]

OR

Q6) a) Explain the process of Electron Beam welding along with its applications.
[8]

b) Write a short note on Robotic Welding. [9]

Q7) a) What is sustainable manufacturing and what are the drivers for sustainable
Manufacturing practices. [9]

b) Explain the basic stages of conducting a Life Cycle Assessment. [9]

OR

Q8) a) List and Explain about the major factors that influence sustainability.
[9]

b) Explain the five core elements of ISO 14000. [9]
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